
Diviser des fractions mixtes négatives (C)

Nom: Date: Note:

Calculez chaque quotient.

1. (−314) ÷
2
3 =

2. (−412) ÷ (−345) =

3. (−323) ÷ (−212) =

4. (−512) ÷ 223 =

5.
3
5 ÷ (−446) =

6. 325 ÷ (−116) =

7. (−212) ÷ (−515) =

8. (−234) ÷ (−223) =

9. (−316) ÷ 125 =

10. (−323) ÷ 145 =

MathsLibres.com



Diviser des fractions mixtes négatives (C) Réponses

Nom: Date: Note:

Calculez chaque quotient.

1. (−314) ÷
2
3 = (−134 ) ÷

2
3 = (−134 ) ×

3
2 = (−398 ) = (−478)

2. (−412) ÷ (−345) = (−92) ÷ (−195 ) = (−92) × (− 5
19) = 45

38 = 1 738

3. (−323) ÷ (−212) = (−113 ) ÷ (−52) = (−113 ) × (−25) = 22
15 = 1 715

4. (−512) ÷ 223 = (−112 ) ÷
8
3 = (−112 ) ×

3
8 = (−3316) = (−2 116)

5. 3
5 ÷ (−446) = 3

5 ÷ (−286 ) = 3
5 × (− 6

28) = (− 18
140) = (− 9

70)

6. 325 ÷ (−116) = 17
5 ÷ (−76) = 17

5 × (−67) = (−10235 ) = (−23235)

7. (−212) ÷ (−515) = (−52) ÷ (−265 ) = (−52) × (− 5
26) = 25

52

8. (−234) ÷ (−223) = (−114 ) ÷ (−83) = (−114 ) × (−38) = 33
32 = 1 132

9. (−316) ÷ 125 = (−196 ) ÷
7
5 = (−196 ) ×

5
7 = (−9542) = (−21142)

10. (−323) ÷ 145 = (−113 ) ÷
9
5 = (−113 ) ×

5
9 = (−5527) = (−2 127)
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